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P = 5105100 + 33389
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P = 5105101 + 33409
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2P + 1 = 2(510510n + 33421) + 1 = 10210200 + 66842 + 1 = 10210200 + 66843
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ooooooooliboooobooooobobooobooboobooboboooobOooboo
good

Q=334310000
P =510510n + 33431
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Q=335030000
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oooo
2P + 1 = 3(340340n + 22353)
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P = 510510n + 33533
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Q=1335470000
P = 510510n + 33547

2P + 1 = 2(510510n + 33547) + 1 = 10210201 + 67094 + 1 = 1021020n + 67095
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 33569
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gbbogbogobogbbgobbooboooobuoonobagn

Q=2335710000
P = 510510n + 33571
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67175 =5 x5 x 2687 x 1

oooo
2P + 1 = 5(204204n + 13435)
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67223 =13 x 5171 x 1
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oboobobooo3oboboboooooboboooOobOobUoboobDoooobOobDoobooo
goo

Q=336170000
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2P + 1 = 2(510510n + 33617) + 1 = 1021020n + 67234 + 1 = 10210200 + 67235
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67983 =3 x 17 x 31 x43 x 1

oooo
2P +1 = 51(20020n + 1333)

oboobooooslboooboboobooobobooobooboobooboboooobOoobOoo
good

Q=1339970000
P = 5105100 + 33997

2P + 1 = 2(510510n + 33997) + 1 = 1021020n + 67994 + 1 = 10210200 + 67995
0000010210200 20 2003,5,7,11,13,17000000 10000000

67995 =3 x 3 x5 x 1511 x 1

oooo
2P + 1 = 15(68068n + 4533)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q =340030000
P = 5105101 + 34003

2P 4+ 1 =2(510510n + 34003) 4+ 1 = 1021020n + 68006 + 1 = 10210201 + 68007
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

68007 = 3 x 22669 x 1

oooo
2P + 1 = 3(340340n + 22669)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=340070000
P = 5105100 + 34007

2P + 1 =2(510510n + 34007) + 1 = 1021020n + 68014 + 1 = 1021020n + 68015

0000010210200 20 2003,5,7,11,13,17000000 10000000

68015 =5x61 x223 x1

oooo
2P + 1 = 5(204204n + 13603)
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goo

Q=340090000
P = 5105101 + 34009

2P + 1 =2(510510n + 34009) + 1 = 1021020n + 68018 4+ 1 = 1021020n + 68019
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

68019 =3 x 7x41 x 79 x 1

oooo
2P + 1 = 21(48620n + 3239)

0000000021 0000000000000 O000DOO00D00ObOOobDOoOoDObOObODbDOn
good

Q=2340190000
P = 5105101 + 34019

2P + 1 = 2(510510n 4 34019) 4+ 1 = 1021020n + 68038 + 1 = 1021020 + 63039
0000010210200 20 2003,5,7,11,13,17000000 1000000

68039 =19 x 3581 x 1

o000 102102000000000000000

2P 41 =510510m + 68039

gboobgobogoobogbooboobbooboooboooboon

Q=340310000
P = 510510n + 34031

2P + 1 = 2(510510n + 34031) + 1 = 1021020n + 68062 + 1 = 10210200 + 68063
0000010210200 20 2003,5,7,11,13,17000000 1000000
68063 = 29 x 2347 x 1
0000 10210200000000000000
2P + 1 = 510510m + 68063

gbobogobooobooboboobboobbooobuooooboon

Q=340330000
P = 510510n + 34033

2P 4+ 1 =2(510510n + 34033) + 1 = 1021020n + 68066 + 1 = 10210201 + 68067
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0000010210200 20 2003,5,7,11,13,17000000 10000000

68067 =3 x 3 x 3 x 2521 x 1

good
2P + 1 = 3(340340n + 22689)

ooobOobooo3obobobooooobobooDooboboboDoboDobooobUobOobDOoo
goo
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